This Question Paper contains 4 printed pages. 21E (A)

SOCIAL STUDIES, Paper-I

(English Version)
Parts A and B

Time : 2% Hours Maximum Marks : 50

Instructions :

I.  Answer the questions under Part ‘A’ on a separate answer book.

2. Write the answers to the questions under Part ‘B’ on the question paper itself
and attach it to the answer book of Part ‘A’.

3. Attach the given outline Map of India with the answer book of ‘Part A’.

Part A -
Time : 2 Hours Marks : 35

SECTION I . 5x2=10

Notes : 1. Answer any five questions, choosing at least two from each
of the following groups, A and B.

2. Each question carries two marks.

Group - A
1. Which aspects of farming practices were regulated in the context of
Hiware Bazar to improve the water conservation?

2.  How did human life style change with settlement?

3.  Read the following paragraph and answer the given question.

India is one of the most densly populated countries of the world.
The population density of India in the year 2011 was 382 per sq. km.
Density varies from 904 person per sq. km. in West Bengal to nrﬂ}; 13
person per sq. km. in Arunachala Pradesh.

Q. What are the reasons for high population density in West Bengal
and low population density in Arunachala Pradesh?

4. What are the problems faced by migrant labourers from villages to cities?
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Group - B
5. Why do you think that, the effects of climate change may be felt by all
countries?

6. What are the various ways in which M.N.C.s set up or control, production

in other countries?

7. Observe the following table and answer the questions that given below.

Contribution of organized and unorganized sectors

Contribution (% of total)
Sectors :
Employment Gross Domestic Product
Organized 8 50
Unorganized 92 50
Total 100 100

a) What percentage of labour in the unorganized sector get

employment?

b)  Which sector get decent job security?

8. Classify the countries based on 'World Development Report', 2012 of
World Bank.

SECTION II & x1=

‘Notes: 1. Answer any four of the following six questions

in one or two sentences each.

2. Each question carries one mark.

9. What is meant by sustainable development?
10. Explain SEZ.

11. What is under employment?

~12. What are the twin sources of 'Ganga'?

13. Give any two examples for 'Nutri-cereals'.

14. Whatis 'Kopi'?
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SECTION III 4x4=16

Notes: 1. Answer any four questions, choosing at least two from each
of the following groups, A and B.

2. Each question carries four marks.

' Group - A

15. What are the similarities and differences between Eastern coastal plains
and Western coastal plains?

16. Observe the following graph and answer the questions that given below.

Graph : India Population : Sex Ratio
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No. of Females per 1000 Males

a) How many times census was taken up after independence?

b) What do you mean by sex ratio?
¢) Give two reasons for low sex ratio.

d) In which year the sex ratid is better?

17. What are the factors which influence the climatic conditions of India?

18. Identify and list the arguments that would support or oppose use of
ground water in various contexts, such as agriculture, industry etc.
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Group - B
19. Study the following table and answer the questions that given below.
Some Comparative data of Selected States

State IMR per 1000 | Literacy rate (%) | Net Attendance Rate
(2006) (2011) (2006)
Punjab 42, 77 76
Himachal Pradesh 36 84 90
Bihar 62 64 56

a) What do you mean by literacy rate?
b) In which state the net attendance is highest?

¢)  What could be the reason for the highest, literacy rate in Himachal
Pradesh? :

d) In which state the IMR is least?

20. Read the given paragraph and answer the question.

Studies indicate that southern states of India have good record in
public distribution system. Notably, these are the states that have
followed a universal PDS system, which means that low cost foodgrains
would be available to all. This is in contrast to other states where poor
families have been identified and food grains are sold to at different prices
to poor and nonpoor. Even among the poor, the very poor have different
entitlements or guarantees for access.

Q. Interpret the relation between the PDS and food security.

21. "Land is required for production of goods in urban areas". In what
ways is the use of land different from rural areas?

22. The workers in the unorganized sector need protection on the following
" 1ssues.
Wages, safety and health.

Explain with examples.

SECTION’ IV 5x1=5
Note : Mark the following places on the given outline map of India.
23. 1) Rann of Kutch 2) Bay of Bengal 3) New Delhi
4) Udhagamandalam 5) River Krishna
OR
1) Arunachal Pradesh 2) Bihar 3) River Narmada

4) Eastern ghats 5) Kodaikanal
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This Question Paper contains 4 printed pages. 2 IE (B)

SOCIAL STUDIES, Paper-I

(English Version)
Parts A and B

Time : 2'2 Hour Maximum Marks : 50
Part B

Attach Part ‘B’ question paper to the main answer book of Part ‘A’,
Time : 30 Minutes Marks : 15

Instructions :
1. Answer all questions.
Each question carries ¥ mark.

2
3. Answers are to be written in the question paper only.
4

Marks will not be awarded in case of any overwriting and rewriting or
erased answers.

I.  Write the CAPITAL LETTER showing the correct answer for the following

questions in the brackets provided against each question. 20 % Y4 =10
1. JuggidJhopdiclustersarein............... [ ]
(A) Delhi (B) Kolkata
(C) Chennai (D) Hyderabad
2.  Which indicates the value of goods and services produced in a
country? | ]
(A) H.D.IL "(B) G.D.P.
(C) G.N.P. (D)- U.N.D.P.
3. The recommended food intake per day for a person in rural
areais........ [ ]
(A) 2100k. cal (B) 2400 k. cal
(C) 2000 k. cal (D) 2500k. cal

AR-152 (Day=10) 1 Turn over



21E (B)

4. % Infosys'is 2 ....ceres... COMPANY. [
(4) .LT. (B) Motor Vehicles
(C) Paints (D) Medicine (Pharmaceuticals)

Which cnné of the following latitudes do not pass through India? |

‘U'l

(A) 5N (B) 12N
(C) 30°N D) 35N

6. Which sector of Indian economy is providing employment for o
maximum number of population? [
(A) Primary sector (B) Secondary sector
(C) Service sector (D) Organized sector

7. What is the function of 'call center'? [

(A) Research and design
(B) Manufacturing of components
(C) Assembling of components

(D) Customer care

8. One hectareisequivalent to.............e. [
(A) 2acres (B) 3% acres
(C) 2% acres (D) 1% acres

9. What is the main reason for migration of women? [

(A) Bored with life in rural area
(B) Employment

(C) Marriage

(D) For happy life

10. 'Sircar'coastisin............ e [
(A) Odisha (B) Andhra Pradesh
(C) Tamil Nadu - (D) Kerala

11. What is the per.c:entage of urban population in India? [
(A) 33% (B) 23%
(C) 40% _ D) 25%
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12.. How many mega cities are there in India? | ]
A) 1 (B) 2
©) 3 ' @) 0

18. What was the literacy rate in India at the time of Independence? | ]

(A) 20% ' (B) 12%
(O 15% D) 10%
14. Which state has positive sex ratio? [ ]
(A) Kerala (B) Andhra Pradesh
" (C) Haryana (D) Punjab
15. Which one is NOT the part of Eastern ghats? 2]
(A) Velikondas (B) Palakondas
(C) Seshachalam (D) Palani hills
16. In 2013 India's rank as per Human Index Development was ..... [ ]
(A) 157 (B) 136
(C) 146 D) 149
17. According to census 2011, the population of Visakhapatnamis ...| ]
(A) above 13 lacs (B) above 10 lacs
(C) above 27 lacs (D) above 20 lacs
18. The fertility ratein Indiais............. [ ]
(A) 2.7 (B) 1.9
(C) 2.1 * ‘D) 3.1

19. The Antyodaya card holders are entitiled to get ........... kgs. of

food-grains per month per family. [ ]
(A) 25 (B) 30
(C) 35 D) 15
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20. Which coast receives maximum rainfall during retreating

monsoon season? [ ]
(A) Coromandel coast (B) Sircar coast
(C) Malabar coast (D) Utkal coast

II. Fillin the blanks with suitable answers.

1/ — ol
Each question carries ¥ mark. 5 X A2=2"%

21. Even if we remove a few people from production work the productton will

pethe same. e S U IoN 16 .. i i i i i & & e

22, Anwvillage with defined bordersis called .........oooveeeeveeeeimeeieeeeeeeee oo,
23. The map which indicates temperature and rainfall is called .........ooovven..

24. The first state that banned the use of chemical fertilizers and pesticides

25. The Chipko movement was started in .......oceceveeeessesee s, State.

III. Match the following by writing the letter of the correct answer in the

brackets, choosing from Group B. S x=2%
Group ‘A’ Group ‘B’

26. Persian wheel [ ] (A) Manganese

27. Kudremukh [ ] (B) Ironore

28. Sandur [ ] (C) London

29. Heathrow Airport [ ] (D) Coal

30. Bhimbedka [ ] (E) Meansoftransport

(F) Draw water

(G) Madhya Pradesh

(H) Delhi
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